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40. If \+y+z—30 \t’+y’—125 and xy—50 then what is the value of L4 ? > L

A 3.13 -

_H 333 O Y5 5
C) 3.43 g
D) 323 \§~

i g
41. ABCisa three-dlglt number in which each digit indicates different digit and A is greater
than B. The difference between ABC and another three digit number CBA is always

divisible by:
A 111
B) 101 AR _ iy
Cy 99 00 ; IR P
D) 37 STA XA N (7
it ST dov ez \N
42. aisaproper fraction. Which among the following is largest? ' — | 2~ ‘¥
i e hor (e G o i S BT
A) 1-= 1= = Sy bt E .
Q =t Q. ool 6. . ) ‘,'Q
6> 2GR 3t b x X
Q .y (EJ 3 L e
PR e - Pl b) % al

43. Certain number of students attended an NCC camp. The camp master decided to arrange
the students into equal number of rows and columns. After arranging them into a maximum
poss1b1e square shape 12 students are left. The master needed 9 more students to increase

that square size by one unit. Find the number of students who attended the camp?
A) 100 i - B) 112

0 132 D) 121 {

44, The total cost of, 4 Pens, 3 Pencils and 4 Erasers is Rs. 34. The total cost of 5 Pens,
7 Pencils and 9 Erasers is Rs. 80. What is the total cost of 1 Pen, 1 Pencil and 1 Eraser?
A) Rs. 16 '~ e B) Rs. 15 1P X b‘,wuk,\,qg: k1

12 — } D) Rs.18 -
O Ry T ) g AR AT 5

‘ 5 i ‘ :
45. A man having 'n' hundred-rupee notes, 'n' ten-rupee notes and 'n' one-rupee coins. qc*‘“

The total amount he has'is sum of first 36 even numbers. What is the value of'n'? 2% * * z

A) 36 W & B) 37 ye X
c) 11 — s D) 12 -
/ . ) \47_ 00

46. The population of a town decreases by 20% every year. If the present populatlon Is
1 92 000, what was the population two years ago?

1,33,334 B) 3,00,000 |
/9/ 1,22,880 D) 2,76,480

02-1D (A) ' as) . P ~[P-T-O- |
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47. Mr. Aakash is having Rs. 68,2007 He invested a part of tl:ee ;l(:lrlso:\::nateifs/:tcom o
interest for four years, and the remaining :clmount at sar;le rt:dt[ sevn ;fl s com o
interest such that the total amounts received at the end ol th chinyeg; .
to be same.
What is the amount invested for four years?.
A) 21,600
£ 51590 B e il R i AE PRI
C) 43,200 : o .
D) 12,500

. 2
48. Rs. 60,000 invested at 123% "

| : (o
the end of 4.5 years? - * - : aboo w "94\(
LA Rs. 45000 % . oo A
PEEUR -0 A y e ARIES 5.7 -
B) Rs. 4,500 - 5

sl P AU =
C) Rs. 36,000 } \ -—gz’gg"’ ’\_k_(?(_f?o.o ]
D) Rs. 48,000 N s 0N 3gU0 O Y

49. How many six-character passwords can be geneﬁg% the symbol @ $,&and:
and the digits 1,2,3 4,5 and 6, such that first two characters are symbols

and the nex
four characters are digits?
A) . 5400 @ b
we B, 6000
C) 2400 ' e
D) 4800 ,

50. Among first 100 positive integers one number is sele

cted at random. What is the
- probability that the number selected is a square number a;

swellascm'
3 m
A) ﬁ
N , |
® 5 = -
ot . ZLRIKZ 2R
. 100

_ Vin
3 o W\’hg )
> % BRISYL S

51. Which among the following is CO-prime? |
A) (91,13) v« N
B) (63,119) )

o) (21,25)
D) (51, 85) ’
(92-1) (A) (16)
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\ $2.  Find the number of factors of 6° x 15* %1029

A) 90
B) 350 ;
C) 560 Vol y at ks T
D) 640 e a0 o a o
- X o ¥ .—\ 3
) ‘ TEES ~ e ) :\}"
- What is the greatest number which div;
it ch divides lc(\)i; 1249 and 1559 and leaves a same
A) 3103 i ¢
lo \\L b
B) ‘322)\0/ ':@— s —
PR T \ \5 @
(%)) ;jS 155 730 \ o R
X2 — AnsS 48 2 0%

54. LCM and HCF of two numbers are 630 and 18 respectivély. If one among the twonumbend="
is 126 find the other number? i

A) 180~ 12€000 a2sa
B 90 V. e g N
— W I
. i e Lot b Ladenanve X <

© 315% Ll : . --\3 oA

D) 36 R ‘b lsg
55. The ratio of the ages of Mr. A and Mr. B is 5: 7. After 8 years, the age of Mr.A'is 4 years

less than the age of Mr.B. Find the present age of Mr.A? ' )

A) 15 years Ly
\)j/ 10 years 2 - 21
C) 8years ) R\
L 100 us = gep
D) 12 years
A W 51 = 681, :
56. If51%ofA=68%ofB=85%0fC,thenfmdA:B:C? ,_
2
A) 3:4:5 ~ @
B) 5:4:3 , A= loo |
C) 20:15:12 51= ®
D) 12:15:20

o

57. The selling price of two chairs are equal. One chair sold at 12% profit. And another chair
sold at 20% loss. If the total cost price of the two chairs is Rs. 4,800. Find the cost price
of the chair sold at 12% profit?

A) Rs. 2,000 B) Rs.2,500

C) Rs.3,500 D) Rs. 4,500
240 ®

92-1D) (A) an [P.T.O.
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60.

61. Ais3/5as efficient as B, so that B take@ys less than the numb

62.

(92-ID) (A) ‘ s %

Pt

@ ‘Z'Xqﬁ_’ J L U

«s of 12 students in an examination is 45 marks, including the marks
¢ marks o

1 tudents, the average marks of total 15 students become 47 marks. What i th
three stu )

mark of the three new students?
./:?a izf ‘9 B) % 58 % \¢
P40 D) ol
C) o4 < ) 1558

Kumar travel from the place X to another place Y at thq rate of 77 kmph and he ety
" from the place B to the place A at the same route at the rate of 44 kmph. What jg the
average speed for his journey? .

: T
A)  56kmph _/sto.Skmph 2
C) 112kmph : D) 28kmph \;\

N AW . i X

RS __izlL_LmM_7 Yot Sk

A vessel completely ﬁllt:;c;L w‘i}ﬁ( }[)ure milk. From the vessel 15 lite\rg”é'}?faken out ang
replaced with water. From the mixture 15 liter are taken out and replaced with water
This process was done one more time. The Ratio of milk to water in the final mixture s
64: 61. What is the capacity of the vessel? b

A)" 100 liter

A

B) 75 liter B i
C) 84 liter SRR 11 i et N

D) 60 liter

er of days taken byA
to complete that work. In how many days A and B together can complete the work?
A) 36 days e é

B) 24 days | R
C) 30days " , @ @
D) 18days ;
&4\’_ .

. Amar divided his total route of journey into three equal distances. He travels each distance
at 60kmph, 48kmph and 40kr/n_ph respectively. What is his aver. .

- the whole
journey? i %3 age speed for the
) 49 kmph 29
B) 48kmph Pl
C) 56kmph

7 alete '9
D) 64kmph / @ 1/%

Lot =
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63. Thelength of arectangle is 3 times of its bread i
. th. Th .m.
\ What is the length of the rectangle? garea of the rectangle ig 1728 20.m

72 m oAb B\
B) 120m
C) 90 m @
D) 8 m 255
64 A‘wh;el ofr d 6;"'@"(1’" S
g adius 63cm completes certain distanée i 50 revoluti . .
travelled by the wheel? . ¢e ifi 50 revolutions. What is the dista
A) 96m
© 420m © T D) 210m

65. Inhow many ways 8 different colours stongs can be fixed around a ciréula'r bangle?

A) 2520 B) 2500 Tl U X 32X/

©) 3200 ©' ~¢ 2 D) 1250
T Ige(my

o L e

66. The area of the three adjacent faces Wgﬂ is 150 sq.cm, 120 sq.cm and 80sq.cm.
- ! f
What is the volume of the cuboid? _ 22 el g
A) 1200 cu.cm By 1400 cucm : ,,_\_\ N
C) 1250 cucm et D) 1100 cucm N
<
67. Among first 20 positive integers, one number is selected at rancﬁlf)m_.t Wh\a e
probability that the number is prime n‘umbe'r? of W :
: " \ B) ?: . \ gg
A) = 7 1k ¥
7 i A (,‘4 N 1, -
)y 2 5571/l"f{56'/{0" 5
2 r Sl Gl | 500 . 4 B
‘}‘/)/ 5 5 -———"l 5 /g,, }r/ 2
.20 et —
>0 165

68. Number of flowersina pond doubles in every 12 mingtes. In 96 minutes, thc? whole pond
L surface covered with flowers. In how many minutes the flowers in pond covers one fourth

of the pond surface?
e , w = 10 O@ .
72 minutes :
. 24 —» O
. B) 48 minutes : 21
C) 36 minutes 36—y MO0 &)
D) 24 minutes ug =7 99 s %/
60 D 'Llo
(92-10) (A) (19) =22 320 o0 [PTO.

8" > (woo
3 \ v 16 > vy, w00

v
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69. Consider the following chart and answer the following. . Google Play
The given pie chart shows the number of satellites launched by five different countrig,
A,B,C,D,E ‘
Total number of satellites launched =‘(8'Q00

-D

___L?io_—?/ }Ql@’@%

| 6 &

@ L\ The number of satellites launched 's what/percent of the number of satellites

launched by D?
A) 15
B 75
C) 30
D) 133.3%

70. Consider the following bar chart and answer the following:
--- .. The production of rice of six districts of a state.in-a particular year is given:

o O.

7004 675

- F‘

2 6004 $40 540
= 5004 850

(Q‘Bé}) N0

% 4001 325 = = —
gsoo- Hl—l R LO C:V@

[

8 8 c o

( Districts of a state)

By what percent the total production of rice of the dist:l‘iogether is more

than the total production of rice of the distric

A)  80%
™ B) /18% P o4 ST A Voo
€y 8%
D) 10%
(92-10) (A) (20)

Y
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iven series:
Complete the given
" 54,33,29, 9
A) 25 | -
By 87
C) 83
D) 77

72. Select the related word/letters/number from the gjven alternatives, -
31:37:101:9 )

A) 104 : g , -
B) 108 N

C) 103

D) 107—"

v

73.

w

i MIRR\ls ertten 25499969
ertt

'BASKET'
In that ¢q

1S Written g 21 1252 then

(
aphofg Womap shna Said, "Shie isthe
€ mother ¢ SISter of my gop W is Krishng re] tl\?th 0 the h husband or
Photographs e woman In the
Daughter ‘
B) Daughter~in-law h S
O Wife < i
) Mother 20
, -Lo'p——'ZOLG'— \'7_0\\'~
From 2019 oW m o 1*’ :
’ any Years |
CCembey 319 wil] haVe the sa
Fou ne Weekdy
) Eleyey,
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77. What is the weekday on 3™ March 1962? 14 é‘ ,

A)  Tuesday ){(—6 = N
B) Saturday '

C) Friday %/

D) Thursday T s ppnn

i t T | .
78. Between §AM to SPM how many times the rr_llingte handfand the hour hand of a clock wij)
be together? inuill 6163 (R 1 .
—A) 9 @L@q Lo VR
B) 7 RV N N
o 10 A
Dy 8 , -
79. What will be the angle between the hands of a clock when time is 5 hour 24 minutes?

A) 24 degree B ‘ ;
B) 28 degree ' - Uug

C) 18 degree Yy > . 1H (.
D)32 degree Ly A N\ l : , " [

80. What is the least possible number of cuts needed to make a cube into 720 equal size
pieces? : gl

18 cuts A o
B) 72 cuts - T "')kzo Lz

O) 27 cutsp . I T
D) 24 cuts " B

81. ' i i 7 :
How many 1cm cubes are needed to make a cuboid of mzq@\cr& X
A) 140 ‘

B)- 280 ‘ ‘ @
C) 162 [ D AR e

D) 440 : — ?}3@ '

Ocm?

82. If L stands for +, M stands for - Nstands for x, P
; '36L15P3N4M16—

A 42 Jo s
. B)_ 50 ’

D) 32 5

stands for +, then

SN

(92-11) (A) @2) 2
g
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83. Different views of a fair die are given. Based on the views given find the number opposite

to 5?

A 1

Q.6

84. How many triangles are there in the given 'ﬁgue?‘

2 ' :
L] § 5\ L
§ 32 4
B) 4 _é ‘
D) 3 oy 6
S
@3) I[P.T.O.
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( ( N \ 1 . .“‘>’. ! ‘
_/B) 3 meters \ h
: et

87. In the following quéstioh, the symboi $, @, #, © and

- 86. Aboy started from his home and walked 12 meters towards the East. After that .
L ¢ tun,

i sl A T
. ers. Then he turned ri . aln, b
stops. What is the shortest distance is he now frsmrliigsh ngi;valked 2 meter. There h:

% Ny
AD "‘// ' L

A) 7 meters... ‘ "

c 9 nie_ters

; ))/5 meters LY " ‘

9% are used with the followin,

meanings as illustrated below:

'A$ B'means Ais sryaller tha;i or equal to B' - ;
'A@B' means Ais éréater tiian B' : l N ,
' A# B' means Ais greatef than or édii’ai toB'.

' A© B'means Ais smaller thanB'. |

' A % B' means A is equaltoB'.

Assume the given statements to be true, find which of the three Conf:lusions 1, [andIl
given below them is/are definitely true and give your ans:yg; a?CQrdmgly? )
Statements:G@E,F%K,I@K,G@I,H@F,H$J Ty
Conclusions : , ‘ ; ,:'u' - -

bel - I $%
L GSF , e &
m FoJ ' »
A) Only 11 & 111 are true )
B) Only1&1lare true
o Onlyl& 111 are trué
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88. A Shopping mall
different items:

has sj : )
8iX floors (including grounq floor). Each floor assigned to sell—
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Ad d a 2 q 7 90. Read the given information carefully and answer the question that follow. )
. Rea

. ani. Nandhu, Oviya, Prem, Quereshi, Reshma, Sgbeer, Tma., Umar, Vinog
Eleven friends I\g;:lt‘:l,lg 1 the ,ﬁrst row of a cinema theatre watching a movie.
are

and Yasmin

1. Tina s to the immediate left of Prem and third to the right of Umar.

Vinod is the immediate neighbour of Mani and Nandhu and third to the left of Sabegr
2. nod is

3. Mani is the second to the right of Quereshi, Who is at one of the ends.

4. Reshma is sitting next to the right of Prem and Prem is second to the right of
Oy, .
Who is third to the right of Prem?

A)  Sabeer
B) Oviya
C) Yasmin

D) None of these

91. Study the given information carefully and answer the following question.

Eight friends Arun, Bablu, Chandra, Darwin, Eeshwar, Fathima, Ganga and Hari are sitting
around a ci{gula{ table fgciﬁg the centre for having their Tunch.

. Gangaisnot an immediate neighbor of Chandra.’
2. Arunis third to the right of Chandra,

3. Eeshwaris second to the left of Chandra. )
4. - Chandra is second to the left of Bablu.
5. Fathima is second to the left of Darwin.

6. Arnis second to the left of Fathima,

Who is the exactly opposite to Hari?

A) Bably
B) Anmn
C) Ganga
D) Fathima
(92-11) (A)

(26)
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92. How many such pairs of letters are there in the word TELEVISION ¢ hich|
many letters between them in the word as in the 26 English alphabet in any dlrgctlon?

A) Four

B) Five R b Re e '

C) Two ‘ " A BTSN
D) Three :

93. How many Instances are there in the following number sequence such that there is an
odd number between two even numbers? e g

4,3,6,9,2,5,6,3,7,9,7,4,2,6,4. 7.9, 1,3,4,8,8,1,8,3,4,5,6

A) Seven
By Six

C) Four

D) Five

e

94. In a family of six members A, B, C, D, E and F only one married co'uplé; Study the
following information carefully about the family and answer the question given below:

Aiswife of C i @ / DRI AN

D

I) Fisbrother of A. )

II) DissonofA. o ———v@i@
IV) Eis father of F ' g ' . ~ ;

V) Bissisterof D | T”;E
How is A related to B? . i o

A) Mother-in-law

B) Sister
O Mother
D) Brother

(92-11) (A) @ [P.T.O.
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95.  Which of the following diagrams indicates the best relation betw
. i
and Female?

een Doctor, Professo,

96. Which is the mirror image of the below word?

MULTIPLE
A) WnrllbrE
B) EIPITauN

- FLIR ST
P d1dI1lInw

(92-ID) (A) (28)
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97. Whichamong the following is the WATER image of the following word ?
SUCCESS

A) e22300ue

B) SUCCESSs
C) ss3aooans

D) 2NCCE22 «

LA

98. Whatis the total number of squares in a standard chess boa‘rd?

A 204
By 64

C) 642
D) 64!

99. Some ducks were walking in a line. Where two ducks were in front of two ducks. Two

ducks were behind two ducks and two ducks in between two ducks. Totally how many

ducks were there? | LR . ¢ :

A 4 . OBk 5

B) & 4 IR @ O 0, .

C) 10 5. ) ,

D) 6 / ] 0 R 0 1

s ¥ e D Aee . )

100

- Find the Missing number in the given Puzzle, . ’ -
&%n"a ey
A) 20 , ‘ ,

: J
B) 12 ‘ : :
0 52
D) 40

02 ()

: : w29 - ' [P.T.O. J


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

